



Application of the ZJ Transform to Integral Equations type Volterra – Fredholm and Integro Differentials

M. Sc. Zenteno Jiménez José Roberto

*National Polytechnic Institute, Mexico City
 ESIA-Ticóman Unit Gustavo A. Madero Mayor's Office
 Email: jzenteno@ipn.mx*

Abstract: The following article is a continuation and is a study, application and results on the ZJ Transform to solve Volterra, Fredholm and Integro differential type Integral Equations

Keywords: ZJ Transform, Volterra Integral Equation, Fredholm Integral Equation, Integral Differential Equations

Introduction

The following study is a continuation of the application of the ZJ Transform [16,17] but now to Integral Equations, which we are going to address with examples linked to solving these following cases, first we will remember the Convolution Theorem and hence the properties of the first derivative differential equations.

ZJ Transform	ZJ Inverse Transform
$ZJ[\beta Z] = \frac{\beta^n}{z} \int_0^{\infty} e^{-\frac{z}{\beta}t} f(t) dt$	$ZJ[\beta Z]^{-1} = \frac{z\beta^n}{2\pi i} \int_{-\infty}^{\infty} e^{z\beta t} f\left(\frac{1}{\beta}\right) d\beta z$

Now from the Convolution Theorem we have the following

Convolution Theorem we define the Convolution of two definite functions of $[0, \infty)$ in the same way as we have done for the Laplace transform.

Convolution Theorem

Let f_1 and f_2 have a new Integral transformation F_1 and F_2 , then the new integral transform of the Convolution of f_1 and f_2 is:

$$\begin{aligned}
 ZJ[f_1 * f_2] &= \frac{\beta^n}{z} \int_0^{\infty} e^{-\frac{z}{\beta}t} \int_0^{\infty} f_1(t)f_2(t - \tau) dt \\
 ZJ[f_1 * f_2] &= \frac{\beta^n}{z} \int_0^{\infty} f_1(\tau) d\tau \int_0^{\infty} e^{-\frac{z}{\beta}t} f_2(t - \tau) dt \\
 ZJ[f_1 * f_2] &= \frac{\beta^n}{z} \int_0^{\infty} e^{-\frac{z}{\beta}t} f_1(\tau) d\tau \int_0^{\infty} e^{-\frac{z}{\beta}t} f_2(t) dt \\
 ZJ[f_1 * f_2] &= \frac{F_1\left(\frac{z}{\beta}\right) F_2\left(\frac{z}{\beta}\right)}{\frac{\beta^n}{z}}
 \end{aligned}$$

The Convolution $f * g$ is defined as:

$$f * g = \int_0^{\infty} f_1(t)f_2(t - \tau) d\tau = \frac{F_2\left(\frac{z}{\beta}\right) F_1\left(\frac{z}{\beta}\right)}{\frac{\beta^n}{z}}$$

By completing the previous examples on Convolution in [17] we have this

$$\begin{aligned}
 y(t) &= \int_0^t f(u)g(t - u) du \\
 \text{iff } = e^t \text{ and } g &= e^{2t} \text{ so } y(t) = \int_0^t e^u e^{2(t-u)} du = e^{2t} - e^t
 \end{aligned}$$



$$= \frac{\beta^{n+1}}{z(z-2\beta)} - \frac{\beta^{n+1}}{z(z-\beta)} = \frac{\beta^{n+1}z^2 - z\beta^{n+2} - \beta^{n+1}z^2 + 2z\beta^{n+2}}{z^2(z-2\beta)(z-\beta)} = \frac{z\beta^{n+2}}{z^2(z-2\beta)(z-\beta)} = \frac{\beta^{n+2}}{z(z-2\beta)(z-\beta)}$$

By the transform we have:

$$ZJ[e^t]ZJ[e^{2t}] = \left[\frac{\beta^{n+1}}{z(z-2\beta)} * \frac{\beta^{n+1}}{z(z-\beta)} \right] = \left[\frac{\beta^{2n+2}}{z^2(z-2\beta)(z-\beta)} \right]$$

$$y\left(\frac{z}{\beta^n}\right) \left(\frac{\beta^{2n+2}}{z^2(z-2\beta)(z-\beta)} \right) = \frac{\beta^{n+2}}{z(z-2\beta)(z-\beta)}$$

Other Example is:

$$f = e^{-2t}yg = 1 \quad \text{soy}(t) = \int_0^t e^{-2u}u(t-\tau) d\tau = \frac{1}{2}(1 - e^{-2t})$$

and with $\frac{1}{2}ZJ[1] - \frac{1}{2}ZJ[e^{-2t}] =$

$$\left(\frac{\beta^{n+1}}{z^2} - \frac{\beta^{n+1}}{z(z+2\beta)} \right) \left(\frac{1}{2} \right) = \left(\frac{z^2\beta^{n+1} + 2z\beta^{n+2} - z^2\beta^{n+1}}{z^3(z+2\beta)} \right) \left(\frac{1}{2} \right) = \frac{2z\beta^{n+2}}{z^3(z+2\beta)} \left(\frac{1}{2} \right) = \frac{\beta^{n+2}}{z^2(z+2\beta)}$$

$$\text{and } ZJ[e^{-2t}]ZJ[1] = \frac{\beta^{n+1}}{z(z+2\beta)} * \frac{\beta^{n+1}}{z^2} = \frac{\beta^{2n+2}}{z^3(z+2\beta)} \left(\frac{z}{\beta^n} \right) = \frac{\beta^{n+2}}{z^2(z+2\beta)}$$

Applications to Integral Equations

Let's go with some application examples, applying the ZJ Transform to the following Integral Equations we have:

Example 1

$$u(t) = t + \int_0^t (t-\tau)u(\tau)d\tau \quad \text{consol. } y = \sinh(t)$$

$$\hat{\varphi} = \frac{\beta^{n+2}}{z^3} + \left(\frac{z}{\beta^n}\right) \left(\frac{\beta^{n+2}}{z^3}\right) \hat{\varphi} \rightarrow \hat{\varphi} = \frac{\beta^{n+2}}{z^3} + \frac{\beta^2}{z^2} \hat{\varphi}$$

$$\left[1 - \frac{\beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+2}}{z^3} \rightarrow \left[\frac{z^2 - \beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+2}}{z^3} \rightarrow \hat{\varphi} = \frac{\frac{\beta^{n+2}}{z^3}}{\frac{z^2 - \beta^2}{z^2}}$$

$$\hat{\varphi} = \frac{\beta^{n+2}z^2}{(z^2 - \beta^2)z^3} = \frac{\beta^{n+2}}{z(z^2 - \beta^2)} \sim f\left(\frac{1}{\beta}\right)$$

$$\hat{\varphi} = \frac{1}{z\beta^{n+2} \left(z^2 - \frac{1}{\beta^2}\right)} = \frac{1}{z\beta^{n+2} \left(\frac{z^2\beta^2 - 1}{\beta^2}\right)}$$

$$\hat{\varphi} = \frac{\beta^2}{z\beta^{n+2}(z^2\beta^2 - 1)} = \frac{1}{z\beta^n(z^2\beta^2 - 1)} (z\beta^n)$$

$$\hat{\varphi} = \frac{1}{z\beta^n(z^2\beta^2 - 1)} = \frac{1}{(z^2\beta^2 - 1)}$$

→ now the inverses enh (t)

Example 2

$$y(t) = 1 - \int_0^x (t-\tau)y(\tau)d\tau$$

$$\hat{\varphi} = \frac{\beta^{n+1}}{z^2} - \left(\frac{\beta^n}{z}\right) \left[\frac{\beta^{n+2}}{z^3}\right] \hat{\varphi} \rightarrow \text{si } \frac{z}{\beta^n} \sim -\left[\frac{\beta^2}{z^2}\right] \hat{\varphi}$$

$$\hat{\varphi} + \left[\frac{\beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+1}}{z^2} \rightarrow \left[1 + \frac{\beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+1}}{z^2}$$

$$\frac{z^2 + \beta^2}{z^2} \hat{\varphi} = \frac{\beta^{n+1}}{z^2} \rightarrow \hat{\varphi} = \frac{\frac{\beta^{n+1}}{z^2}}{\frac{z^2 + \beta^2}{z^2}} = \frac{\beta^{n+1}}{z^2 + \beta^2} \text{ now the inverse}$$



$$\hat{\varphi} = \frac{1}{\beta^{n+1}} = \frac{1}{z^2 + \frac{1}{\beta^2}} = \frac{\beta^2}{z^2\beta^2 + 1} = \frac{\beta}{\beta^n(z^2\beta^2 + 1)} (z\beta^n)$$

$$\hat{\varphi} = \frac{z\beta}{(z^2\beta^2 + 1)} \rightarrow \text{with solution like } \cos(t)$$

Example 3

$$u(t) = 3t - 9 \int_0^t (t - \tau)y(\tau)dt$$

$$\hat{\varphi} = 3 \frac{\beta^{n+2}}{z^3} - 9 \left(\frac{z}{\beta^n}\right) \left(\frac{\beta^{n+2}}{z^3}\right) \hat{\varphi} \rightarrow \hat{\varphi} = \frac{3\beta^{n+2}}{z^3} - 9 \frac{\beta^2}{z^2} \hat{\varphi}$$

$$\left[1 + \frac{9\beta^2}{z^2}\right] \hat{\varphi} = 3 \frac{\beta^{n+2}}{z^3} \rightarrow \left[\frac{z^2 + 9\beta^2}{z^2}\right] \hat{\varphi} = \frac{3\beta^{n+2}}{z^3} \rightarrow \hat{\varphi} = \frac{3\beta^{n+2}}{z^2 + 9\beta^2}$$

$$\hat{\varphi} = \frac{3\beta^{n+2}z^2}{z^3(z^2 + 9\beta^2)} = \frac{3\beta^{n+2}}{z(z^2 + 9\beta^2)} \sim f\left(\frac{1}{\beta}\right)$$

$$\hat{\varphi} = \frac{\frac{3}{\beta^{n+2}}}{z\left(z^2 + \frac{9}{\beta^2}\right)} = \frac{\frac{3}{\beta^{n+2}}}{z\left(\frac{z^2\beta^2 + 9}{\beta^2}\right)} = \frac{3\beta^2}{z\beta^{n+2}(z^2\beta^2 + 9)} = \frac{3}{z\beta^n(z^2\beta^2 + 9)} (z\beta^n)$$

$$\hat{\varphi} = \frac{3}{(z^2\beta^2 + 9)} \rightarrow$$

with solution like $\sim \text{sen}(3t)$

Example 4

$$u(t) = 1 - 4 \int_0^t (t - \tau)y(\tau)dt$$

$$\hat{\varphi} = \frac{\beta^{n+1}}{z^2} - 4 \left(\frac{z}{\beta^n}\right) \left(\frac{\beta^{n+1}}{z^2}\right) \hat{\varphi} \rightarrow \hat{\varphi} = \frac{\beta^{n+1}}{z^2} - 4 \frac{\beta^2}{z^2} \hat{\varphi}$$

$$\left[1 + \frac{4\beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+1}}{z^2} \rightarrow \left[\frac{z^2 + 4\beta^2}{z^2}\right] \hat{\varphi} = \frac{\beta^{n+1}}{z^2}$$

$$\hat{\varphi} = \frac{\frac{\beta^{n+1}}{z^2}}{\frac{z^2 + 4\beta^2}{z^2}} = \frac{\beta^{n+1}z^2}{z^2(z^2 + 4\beta^2)} = \frac{\beta^{n+1}}{z^2 + 4\beta^2} \sim f\left(\frac{1}{\beta}\right)$$

$$\rightarrow \frac{1}{\beta^{n+1}\left(z^2 + \frac{4}{\beta^2}\right)} \rightarrow \frac{1}{\beta^{n+1}\left(\frac{z^2\beta^2 + 4}{\beta^2}\right)}$$

$$\rightarrow \frac{1}{\beta^{n+1}\left(\frac{z^2\beta^2 + 4}{\beta^2}\right)} \rightarrow \frac{\beta^2}{\beta^{n+1}(z^2\beta^2 + 4)} \rightarrow \frac{\beta}{\beta^n(z^2\beta^2 + 4)} (z\beta^n)$$

$$\rightarrow \frac{z\beta}{(z^2\beta^2 + 4)} \rightarrow \text{with solution like } \sim \cos(2t)$$

Example 5

$$u(x) = 6x - x^3 + \frac{1}{2} \int_0^x tu(t)dt$$

$$\hat{\varphi} = (6x - x^3) \left(\frac{\beta^{n+1}}{z^2}\right) + \frac{1}{2} \left(\frac{z}{\beta^n}\right) \left(\frac{\beta^{n+2}}{z^3}\right) \hat{\varphi} \rightarrow \hat{\varphi} = b \frac{\beta^{n+1}}{z^2} + \frac{1}{2} \frac{\beta^2}{z^2} \hat{\varphi} \rightarrow \hat{\varphi} - \frac{1}{2} \frac{\beta^2}{z^2} \hat{\varphi} = b \frac{\beta^{n+1}}{z^2}$$

$$\left[1 - a \frac{\beta^2}{z^2}\right] \hat{\varphi} = b \frac{\beta^{n+1}}{z^2} \rightarrow \hat{\varphi} = \frac{b \frac{\beta^{n+1}}{z^2}}{\left[1 - a \frac{\beta^2}{z^2}\right]} = \frac{\frac{b\beta^{n+1}}{z^2}}{\frac{z^2 - a\beta^2}{z^2}} = \frac{b\beta^{n+1}}{z^2 - a\beta^2} \rightarrow f\left(\frac{1}{\beta}\right)$$

$$\hat{\varphi} = \frac{\frac{b}{\beta^{n+1}}}{z^2 - \frac{a}{\beta^2}} = \frac{\frac{b}{\beta^{n+1}}}{\frac{z^2\beta^2 - a}{\beta^2}} = \frac{b\beta^2}{\beta^{n+1}(z^2\beta^2 - a)} = \frac{b\beta}{\beta^n(z^2\beta^2 - a)} (z\beta^n)$$



$$\hat{\varphi} = \frac{bz\beta}{(z^2\beta^2 - a)} \rightarrow \frac{bs}{(s^2 - a)} \text{ and this is how } \cosh\left(\frac{x}{\sqrt{2}}\right)$$

Now how

$$\begin{aligned} (6x - x^3) \left[\cosh\left(\frac{x}{\sqrt{2}}\right) \right] &= (6x - x^3) \left[1 + \frac{\left(\frac{x}{\sqrt{2}}\right)^2}{2!} + \frac{\left(\frac{x}{\sqrt{2}}\right)^4}{4!} + \dots \right] \\ &= 6x - x^3 + (6x - x^3) \frac{\left(\frac{x}{\sqrt{2}}\right)^2}{2!} + (6x - x^3) \frac{\left(\frac{x}{\sqrt{2}}\right)^4}{4!} + \dots \\ &= 6x - x^3 + \frac{6x^3}{2 * 2!} - \frac{x^5}{2 * 2!} + \dots \text{ so the power terms are small} \\ &= 6x + \left(\frac{6}{4} - 1\right)x^3 - x^5 + \dots = 6x \text{ is the solution in closed form} \end{aligned}$$

For Fredholm Type Equations

Example 1

$$\begin{aligned} u(x) &= \frac{9}{10}x^2 + \int_0^1 \frac{1}{2}x^2t^2u(t)dt \\ u(x) &= \frac{9}{10}x^2 + \frac{1}{2}x^2 \int_0^1 t^2u(t)dt \\ \hat{\varphi} &= \frac{9}{10}x^2 \frac{\beta^{n+1}}{z^2} + \frac{1}{2}x^2 \left(\frac{2\beta^3}{z^3}\right) \hat{\varphi} \rightarrow \hat{\varphi} = \frac{9}{10}x^2 \frac{\beta^{n+1}}{z^2} + x^2 \frac{\beta^3}{z^3} \hat{\varphi} \\ \left[1 - x^2 \frac{\beta^3}{z^3}\right] \hat{\varphi} &= \frac{9}{10}x^2 \frac{\beta^{n+1}}{z^2} \rightarrow \left[1 - a \frac{\beta^3}{z^3}\right] \hat{\varphi} = bx^2 \frac{\beta^{n+1}}{z^2} \\ \left[\frac{z^3 - a\beta^3}{z^3}\right] \hat{\varphi} &= bx^2 \frac{\beta^{n+1}}{z^2} \rightarrow \hat{\varphi} = \frac{bx^2 \frac{\beta^{n+1}}{z^2}}{\frac{z^3 - a\beta^3}{z^3}} \rightarrow \hat{\varphi} = \frac{bx^2 \beta^{n+1} z}{z^3 - a\beta^3} \\ \rightarrow \frac{bx^2 \beta^{n+1} z}{z^3 - a\beta^3} &\rightarrow \frac{bx^2 z}{\beta^{n+1} \left(z^3 - \frac{a}{\beta^3}\right)} \rightarrow \frac{bx^2 z}{\beta^{n+1} \left(\frac{z^3 \beta^3 - a}{\beta^3}\right)} \rightarrow \frac{bx^2 z \beta^3}{\beta^{n+1} (z^3 \beta^3 - a)} \\ &\rightarrow \frac{bx^2 z \beta^2}{\beta^n (z^3 \beta^3 - a)} * z\beta^n \rightarrow bx^2 \frac{z^2 \beta^2}{(z^3 \beta^3 - a)} \rightarrow \text{expanded form} \\ &= \frac{4e^{\frac{3\sqrt{9}}{\sqrt{10}}t}}{3+9} = \frac{4}{12} e^{\frac{3\sqrt{9}}{\sqrt{10}}t} \sim \frac{e^{\frac{3\sqrt{9}}{\sqrt{10}}t}}{3} \sim \frac{1}{3} \left[1 + \frac{3\sqrt{9}}{\sqrt{10}}t + \frac{\left(\frac{3\sqrt{9}}{\sqrt{10}}t\right)^2}{2!} + \frac{\left(\frac{3\sqrt{9}}{\sqrt{10}}t\right)^3}{3!} + \dots \right] \\ &\approx \frac{9}{10}x^2 \left(\frac{1}{3}\right) \approx \frac{9x^2}{30} \text{ thus } kx^2 = 0.3x^2 \text{ or } (k=1)x^2 = x^2 \end{aligned}$$

Example 2

$$\begin{aligned} u(x) &= \frac{5}{6}x + \frac{1}{2} \int_0^1 xtu(t)dt \text{ with sol. } \frac{5}{6}x \approx x \\ \hat{\varphi} &= \frac{5}{6}x \frac{\beta^{n+1}}{z^2} + \frac{x}{2} \left(\frac{\beta^{n+2}}{z^3}\right) \hat{\varphi} \rightarrow \hat{\varphi} = \frac{5}{6}x \left(\frac{\beta^{n+1}}{z^2}\right) + \frac{x}{2} \left(\frac{\beta^2}{z^2}\right) \hat{\varphi} \rightarrow \left[1 - \frac{x}{2} \left(\frac{\beta^2}{z^2}\right)\right] \hat{\varphi} = \frac{5}{6}x \left(\frac{\beta^{n+1}}{z^2}\right) \\ \left[1 - a \left(\frac{\beta^2}{z^2}\right)\right] \hat{\varphi} &= b \left(\frac{\beta^{n+1}}{z^2}\right) \rightarrow \left[\frac{z^2 - a\beta^2}{z^2}\right] \hat{\varphi} = b \left(\frac{\beta^{n+1}}{z^2}\right) \\ \hat{\varphi} &= \frac{b \left(\frac{\beta^{n+1}}{z^2}\right)}{\left[\frac{z^2 - a\beta^2}{z^2}\right]} = \frac{b\beta^{n+1}z^2}{z^2(z^2 - a\beta^2)} = \frac{b\beta^{n+1}}{z^2 - a\beta^2} \rightarrow f\left(\frac{1}{\beta}\right) \\ \hat{\varphi} &= \frac{\frac{b}{\beta^{n+1}}}{z^2 - \frac{a}{\beta^2}} = \frac{\frac{b}{\beta^{n+1}}}{\frac{z^2\beta^2 - a}{\beta^2}} = \frac{b\beta^2}{\beta^{n+1}(z^2\beta^2 - a)} = \left(\frac{b\beta}{\beta^n(z^2\beta^2 - a)}\right) (z\beta^n) = \frac{bz\beta}{(z^2\beta^2 - a)} \end{aligned}$$



$$\rightarrow = \frac{5}{6}x \left[\frac{s}{s^2-a} \right] = \frac{5}{6}x \cosh(\sqrt{a})t(\sqrt{a}) = \text{cte}$$

$$= \frac{5}{6}x \left[1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \dots \right]$$

$$\left[\frac{5}{6} + \frac{1}{8} \right] x = \frac{41}{48} = 0.85$$

$$\therefore 0.85x \approx x$$

$$x = \sqrt{a} = \sqrt{\frac{x}{2}}$$

$$\left(\sqrt{\frac{x}{2}} \right)^2 = \frac{x}{4}$$

$$\left(\sqrt{\frac{x}{2}} \right)^4 = \frac{x^2}{4}$$

For Integro-Differential Equations

Example 1

$$\int_0^t y(\tau) \cos(t - \tau) d\tau = y'(t) y(0) = 1$$

$$\frac{z}{\beta^n} \hat{\varphi} \left[\frac{\beta^{n+1}}{z^2 + \beta^2} \right] = \left[-y(x, 0) \frac{\beta^n}{z} + \frac{z}{\beta} \hat{\varphi} \right]$$

$$\hat{\varphi} \frac{z\beta}{z^2 + \beta^2} = \left[-\frac{\beta^n}{z} + \frac{z}{\beta} \hat{\varphi} \right] \rightarrow \hat{\varphi} \frac{z\beta}{z^2 + \beta^2} - \frac{z}{\beta} \hat{\varphi} = -\frac{\beta^n}{z}$$

$$\left[\frac{z\beta}{z^2 + \beta^2} - \frac{z}{\beta} \right] \hat{\varphi} = -\frac{\beta^n}{z} \rightarrow \frac{z\beta^2 - z(z^2 + \beta^2)}{\beta(z^2 + \beta^2)} \hat{\varphi} = -\frac{\beta^n}{z}$$

$$\frac{-z^3}{\beta(z^2 + \beta^2)} \hat{\varphi} = -\frac{\beta^n}{z} \rightarrow \hat{\varphi} = \frac{\beta^n}{\frac{z^3}{\beta(z^2 + \beta^2)}} = \frac{\beta^{n+1}(z^2 + \beta^2)}{z^4} \text{conf} \left(\frac{1}{\beta} \right)$$

$$\hat{\varphi} = \frac{\left(z^2 + \frac{1}{\beta^2} \right)}{\beta^{n+1}z^4} = \frac{(z^2\beta^2 + 1)}{\beta^{n+3}z^4} (z\beta^n)$$

$$\hat{\varphi} = \frac{(z^2\beta^2 + 1)}{\beta^3z^3} \rightarrow$$

$$= 1 + \frac{t^2}{2}$$

Example 2

$$\int_0^t y'(\tau)y(t - \tau) d\tau = 24y^3y(0) = 0$$

$$\left(\frac{z}{\beta^n} \right) \left[-y(x, 0) \frac{\beta^n}{z} + \frac{z}{\beta} \hat{\varphi} \right] = 24 \left[\frac{6\beta^{n+4}}{z^5} \right]$$

$$\frac{z^2}{\beta^{n+1}} \hat{\varphi}^2 = \frac{144\beta^{n+4}}{z^5} \rightarrow \hat{\varphi}^2 = \frac{\frac{144\beta^{n+4}}{z^5}}{\frac{z^2}{\beta^{n+1}}} = \frac{144\beta^{2n+5}}{z^7}$$

$$\hat{\varphi}^2 = 144 \frac{\beta^{2n+5}}{z^7} \rightarrow f \left(\frac{1}{\beta} \right) \rightarrow \hat{\varphi}^2 = 144 \frac{1}{z^7\beta^{2n+5}} (z\beta^n)$$

$$\hat{\varphi}^2 = 144 \frac{1}{z^6\beta^{n+5}} (z\beta^n) = \frac{144}{z^5\beta^5} = \sqrt{\frac{144}{s^5}} = \frac{16}{\sqrt{\pi}} t^{3/2}$$

Note: Here it is multiplied twice by $z\beta^n$.

Example 3

$$\int_0^t y''(\tau)y'(t - \tau) d\tau = y'(t) - y(t)y(0) = y'(t) = 0 \quad \text{sol. } y(t) = 0$$

$$\left(\frac{z}{\beta^n} \right) \left[-\frac{\beta^n}{z} y'(x, 0) - \frac{\beta^n}{\beta} y(x, 0) + \frac{z^2}{\beta^2} \hat{\varphi} \right] \left[-y'(x, 0) \frac{\beta^n}{z} + \frac{z}{\beta} \hat{\varphi} \right] =$$

$$= \left[-y'(x, 0) \frac{\beta^n}{z} + \frac{z}{\beta} \hat{\varphi} \right] - \hat{\varphi}$$



$$\begin{aligned} \left(\frac{z}{\beta^n}\right) \left(\frac{z^2}{\beta^2}\right) \hat{\varphi} \left(\frac{z}{\beta} \hat{\varphi}\right) &= \frac{z}{\beta} \hat{\varphi} - \hat{\varphi} \\ \frac{z^4}{\beta^{n+4}} \hat{\varphi} &= \left[\frac{z}{\beta} - 1\right] \hat{\varphi} = 0 \\ \left(\frac{z^4}{\beta^{n+4}} - \left[\frac{z}{\beta} - 1\right]\right) \hat{\varphi} &= 0 \\ \therefore y(t) &= 0 \end{aligned}$$

Conclusions

With these examples we have put into practice the use of the ZJ transform which is another way to solve these integral equations in their varieties that were presented, hoping that this will be supportive and helpful as another alternative method.

References

- [1]. Elzaki Tarig The New Integral Transform "Elzaki Transform" Tarig. M. Elzaki Global Journal of Pure and Applied Mathematics ISSN 0973-1768 Volume 7, Number 1 (2011), pp. 57–64 © Research India Publications
- [2]. Eman A. Mansour et al 2021 J. Phys.: Conf. Ser. 1999 012155 Application of New Transform "Complex SEE Transform" to Partial Differential Equations Fethi Bin Muhammed Belgacem and Ahmed Abdullatif Karaballi. Sumudu transform fundamental properties investigations and applications, Publishing Corporation Journal of Applied Mathematics and Stochastic Analysis Volume 2006, Article ID 91083, Pages 1–23 DOI 10.1155/JAMSA/2006/91083
- [3]. H. Eltayeb, A. Kiliman, B. Fisher A new integral transform and associated distributions Integral Transforms Special Funct, 21 (5) (2010), pp. 367-379
- [4]. Hassan Eltayeb and AdemKılı, cman. A Note on the Sumudu Transforms and Differential Equationsn
- [5]. Hassan Eltayeb and AdemKılı, cman. On Some Applications of a New Integral Transform
- [6]. R. I. Nuruddeena, Lawal Muhamadb, A.M. Nassc, T. A. Sulaiman. A Review of the Integral Transforms-Based Decomposition Methods and their Applications in Solving Nonlinear PDEs Communicated by Ayman Badawi.
- [7]. Hossein Jafari, A new general integral transform for solving integral equations, Journal of Advanced Research, Volume 32, 2021, Pages 133-138, ISSN 2090-1232, <https://doi.org/10.1016/j.jare.2020.08.016>. (<https://www.sciencedirect.com/science/article/pii/S2090123220302022>)
- [8]. K.S. Aboodh The new integral transform aboodh transform Global J Pure Appl Mathe, 9 (1) (2013), pp. 35-43
- [9]. M.M. Abdelrahim Mahgoub The new integral transform mohand transform Adv Theoret Appl Mathe, 12 (2) (2017), pp. 113-120
- [10]. N. Abbas, M.Y. Malik, M.S. Alqarni, S. Nadeem Study of three dimensional stagnation point flow of hybrid nano fluid over an isotropic slip surface Physica A, 554 (2020), p. 124020
- [11]. S.A.P. Ahmadi, H. Hosseinzadeh, A.Y. Cherati A new integral transform for solving higher order linear ordinary differential equations Nonlinear DynSyst Theory, 19 (2) (2019), pp. 243-252
- [12]. S.A.P. Ahmadi, H. Hosseinzadeh, A.Y. Cherati A new integral transform for solving higher order linear ordinary Laguerre and Hermite differential equations Int J Appl Comput Math, 5 (2019), p. 142, 10.1007/s40819-019-0712-1
- [13]. The New Integral Transform "Mohand Transform" https://www.ripublication.com/atam17/atamv12n2_07.pdf
- [14]. T.M. Elzaki The new integral transform Elzaki Transform Global J Pure Appl Mathe, 7 (1) (2011), pp. 57-64
- [15]. Zenteno Jimenez Jose Roberto. International Journal of Latest Research in Engineering and Technology (IJLRET) ISSN: 2454-5031 www.ijlret.com || Volume 06 - Issue 02 || February 2020 || PP. 08-16 International Journal of Latest Research in Engineering and Technology (IJLRET) ISSN: 2454-5031 www.ijlret.com || Volume 09 - Issue 05 || May 2023 || PP. 19-25 www.ijlret.com 25 | Page Functions for Reduction of Parabolic Hyperbolic Equations Zenteno – Julia Functions and some applications
- [16]. Zenteno Jimenez Jose Roberto International Journal of Latest Research in Engineering and Technology (IJLRET) ISSN: 2454-5031 www.ijlret.com || Volume 08 - Issue 11 || November 2022 || PP. 01-09 A Relation Between the Z – J Functions and The Elzaki and Sumudu Transform for Differential Equations with a Proposed Transformation



-
- [17]. International Journal of Latest Research in Engineering and Technology (IJLRET) ISSN: 2454-5031
www.ijlret.com // Volume 09 - Issue 05 // May 2023 // PP. 19-25 Some Properties of the ZJ Transform
and application to Partial Differential Equations <http://www.ijlret.com/Papers/Vol-09-issue-05/3.B2023322.pdf>